® Va2

ANl B4l dolE q, b, c2} 5
2(ab + bc + ca) = 52
4la+b+c)=36 > a+b+c=9
207 gzl o))

N

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52= 29




(=2x* + x> + ax+ b)? O] HAINA oA x3 O] A7 -8 W, a—2b 9]
29

AN o) AR YT o\l F, AT 44T
ol 217} 2744 Lhech,

(—2x3 xb) X 2 + (x* X ax) X 2 = (—-4b + 2a)x?

2a—4b = -8

L a—-2b=-4




@ 2 @)4 ® 6 @ 8 ® 10

@+ay =a. (2= —fR ¥
P=((2+a)y +(2-a)p -
=(@+p)’ - (a-p)* = 4op
4(2+a)"(2 a) =4(4 - a®)"
4

(4-3)" =




4.

xty=2 x4y =Ud W, o= F FA B2 A2

D xy=-1 @ x>+y*=6 ® x*+yt=34
@x5+y5=86 ® x5 4y =198

~&B

@ x®+y3 = (x+y)% - 3xy(x +y) oA
14 = 2% — 3xy x 2
Soxy=-1
@ 22 +y? = (x+y)? - 2xy A
x> +y2=22-2(-1)=6
@ xt +yt = (3% +)2)% - 2222 | A
x4yt =62-2(-1)2 =34
@ X0+ = (2 +y2) (23 +5°) - xH?(x +y) oA
X4y =6x14-(-1)2x2 =282+ 86
® 20 430 = (x% +1%)2 — 2x3y3 of| A
x84 y0 =142 - 2(-1)3 = 198




